

SUM OF d-POWERS OF GENERALISED FIBONACCI LIKE POLYNOMIALS

Dr.V.Kaladevi¹, C. Dhevaki²

Abstract : In this paper the sum of d-powers of Generalised Fibonacci like Polynomials $V_n(x) = xV_{n-1}(x) + V_{n-2}(x)$; $n \geq 3$ with $V_1(x) = p$ and $V_2(x) = x$, where $p \geq 3$ is found.

Keywords : Fibonacci Polynomials, Lucas Polynomials, Pell Polynomials and Pell-Lucas Polynomials.

1. INTRODUCTION

The generalized Fibonacci like polynomials are defined by the recurrence relation

$$V_n(x) = xV_{n-1}(x) + V_{n-2}(x) ; n \geq 3 \text{ with}$$

$$V_1(x) = a \text{ and } V_2(x) = bx,$$

First few polynomials are

$$V_3(x) = bx^2 + a$$

$$V_4(x) = (x^3 + x)b + ax$$

$$V_5(x) = (x^4 + 2x^2)b + (x^2 + 1)a$$

$$V_6(x) = (x^5 + 3x^3 + x)b + (x^3 + 2x)a$$

.....

If $a = b = 1$ then

$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x) ; \text{ with } F_1(x) = 1, F_2(x) = x$$

(Fibonacci Polynomials)

If $a = 2, b = 1$ then

$$L_{n-1}(x) = xL_{n-2}(x) + L_{n-3}(x) ; \text{ with } L_0(x) = 2, L_1(x) = x$$

(Lucas Polynomials)

If $a = 1, b = 2$ then

$$P_n(x) = 2xP_{n-1}(x) + P_{n-2}(x) ; \text{ with } P_1(x) = 1, P_2(x) = 2x$$

(Pell Polynomials)

If $a = b = 2$ then

$$Q_{n-1}(x) = 2xQ_{n-2}(x) + Q_{n-3}(x) ; \text{ with } Q_0(x) = 2, Q_1(x) = 2x$$

(Pell-Lucas Polynomials)

If $a = p, p \geq 3$ and $b = 1$ then the generalized Fibonacci like Polynomials are known as Mathematics Year 2012 polynomials and denoted $MY_n^p(x)$ or $M_n^p(x)$

The polynomials $MY_n^p(x)$ are defined by the recurrence relation

$$MY_n^p(x) = xM_{n-1}^p(x) + M_{n-2}^p(x), \quad p \geq 3 \text{ with } M_1^p(x) = p, M_2^p(x) = x$$

In this paper the sum of d-powers of Lucas polynomials and $MY_n^p(x)$ polynomials are obtained.

2. RELATION BETWEEN $F_N(X)$, $L_N(X)$ AND $M_n^p(x)$

$$MY_n^p(x) = L_n(x) + (p-2)F_{n-1}(x) \text{ with}$$

$$M_1^p(x) = p, M_2^p(x) = x, \quad p = 3, 4, 5, \dots \text{ and } n \geq 3.$$

when $p = 1$, $M_n^1(x)$ is the sequence of Fibonacci polynomials.

when $p = 2$, $M_n^2(x)$ is the sequence of Lucas polynomials.

3. CLOSED FORM EXPRESSIONS OF THE POLYNOMIALS $M_n^p(x)$

The recurrence relation of $M_n^p(x)$ is given by

$$M_n^p(x) = xM_{n-1}^p(x) + M_{n-2}^p(x) \quad \dots \quad (1)$$

$$n \geq 3 \text{ with } M_1^p = p, M_2^p = x, \quad p \geq 3, 4, 5, \dots$$

when $p = 3$, equation (1) takes the form

$$M_n^3(x) = xM_{n-1}^3(x) + M_{n-2}^3(x)$$

We use the notation $M_n(x)$ for $M_n^3(x)$

The homogenous equation of (1) is

$$t^2 - xt - 1 = 0 \quad \dots \quad (2)$$

Solving equation (2) for t

$$t = \frac{x \pm \sqrt{x^2 + 4}}{2}$$

The solutions of (1) can be denoted by

$$\alpha(x) = \frac{x + D}{2} \text{ and } \beta(x) = \frac{x - D}{2}$$

$$\text{where } D = \sqrt{x^2 + 4}$$

The general solution is given by

$$M_n(x) = C_1\alpha(x)^n + C_2\beta(x)^n, \quad n \geq 1$$

The constants C_1 and C_2 can be found using the initial conditions

$$\text{Now } M_1(x) = C_1\alpha(x) + C_2\beta(x)$$

$$M_2(x) = C_1\alpha(x)^2 + C_2\beta(x)^2$$

Using the initial conditions, we get

$$C_1\alpha(x) + C_2\beta(x) = 3 \quad \dots \quad (3)$$

$$C_1\alpha(x)^2 + C_2\beta(x)^2 = x \quad \dots \quad (4)$$

Multiplying equation (3) by $\alpha(x)$ and subtracting from (4), we get

$$C_2 = \frac{3\alpha(x) - x}{\beta(x)[\alpha(x) - \beta(x)]}$$

Substituting the value of C_2 in (3) we get

$$C_1 = \frac{x - 3\beta(x)}{\alpha(x)[\alpha(x) - \beta(x)]}$$

Therefore the general solution of $M_n(x)$ is given by

$$M_n(x) = \left(\frac{x - 3\beta(x)}{\alpha(x) - \beta(x)} \right) \alpha(x)^{n-1} + \left(\frac{3\alpha(x) - x}{\alpha(x) - \beta(x)} \right) \beta(x)^{n-1}$$

Substituting $\alpha(x) = \frac{x + D}{2}$ and $\beta(x) = \frac{x - D}{2}$

$M_n(x)$ can be rewritten as

$$M_n(x) = \left[\left(\frac{3D - x}{2} \right) \alpha(x)^{n-1} + \left(\frac{3D + x}{2} \right) \beta(x)^{n-1} \right] \left(\frac{1}{\alpha(x) - \beta(x)} \right)$$

$$\left(\text{Since } x - 3\beta = \frac{3D - x}{2} ; 3\alpha - x = \frac{3D + x}{2} \right)$$

Now $\alpha(x) - \beta(x) = \frac{x}{2} + \frac{D}{2} - \frac{x}{2} + \frac{D}{2} = D$

Hence $M_n(x) = \left(\frac{3D - x}{2D} \right) \alpha(x)^{n-1} + \left(\frac{3D + x}{2D} \right) \beta(x)^{n-1}$

4. SUM OF D-POWERS OF $M_n^p(x)$ POLYNOMIALS

Let $M_d^p(x) = \sum_{K=0}^n (M^p)^d(K)$

when $p = 2$, M_n^2 polynomials are Lucas polynomials $L(n)$.

First we find, sum of d powers of Lucas polynomials

$$\text{Let } L_d(n) = \sum_{K=0}^n L^d(K)$$

Now we write $L^d(K)$ as below

$$\begin{aligned}
 L^d(K) &= \sum_{i=0}^d \binom{d}{i} (\alpha(x)^i \beta(x)^{d-i})^{K-1} \\
 &= \sum_{i=0}^d \binom{d}{i} \sum_{K=0}^n (\alpha(x)^i \beta(x)^{d-i})^{K-1} \\
 L^d(K) &= \sum_{i=0}^d \binom{d}{i} \left[\frac{1 - (\alpha(x)^i \beta(x)^{d-i})^{K-1}}{1 - \alpha(x)^i \beta(x)^{d-i}} \right]
 \end{aligned}$$

Next we find the sum of d-powers of $M_n^3(x)$

$$\text{Now } M_n^3(x) = \left(\frac{3D - x}{2D} \right) \alpha(x)^{n-1} + \left(\frac{3D + x}{2D} \right) \beta(x)^{n-1}$$

$$\text{Let } M_d(x) = \sum_{K=0}^n M^d(K) \quad \dots \quad (*)$$

Now

$$M^d(K) = \frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D + x)^{d-i} (3D - x)^i (\alpha(x)^i \beta(x)^{d-i})^{K-1} \right]$$

Substituting $M^d(K)$ in equation (*)

$$\begin{aligned}
 M_d(x) &= \sum_{K=0}^n \left[\frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D + x)^{d-i} (3D - x)^i (\alpha(x)^i \beta(x)^{d-i})^{K-1} \right] \right] \\
 &= \frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D + x)^{d-i} (3D - x)^i \sum_{K=0}^n (\alpha(x)^i \beta(x)^{d-i})^{K-1} \right] \\
 &= \frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D + x)^{d-i} (3D - x)^i \left[\frac{1 - (\alpha(x)^i \beta(x)^{d-i})^n}{1 - \alpha(x)^i \beta(x)^{d-i}} \right] \right]
 \end{aligned}$$

Sum of 3rd power of First three Lucas Polynomials

$$\begin{aligned}
 L_3(3) &= \sum_{i=0}^3 \binom{3}{i} \sum_{K=0}^3 (\alpha(x)^i \beta(x)^{d-i})^{K-1} \\
 &= \sum_{i=0}^3 \binom{3}{i} \left[\frac{1 - (\alpha(x)^i \beta(x)^{d-i})^3}{1 - \alpha(x)^i \beta(x)^{d-i}} \right] \\
 &= \binom{3}{0} \frac{1 - (\alpha(x)^0 \beta(x)^3)^3}{1 - \alpha(x)^0 \beta(x)^3} + \binom{3}{1} \frac{1 - (\alpha(x)^1 \beta(x)^2)^3}{1 - \alpha(x)^1 \beta(x)^2}
 \end{aligned}$$

$$\begin{aligned}
 & + \binom{3}{2} \frac{1 - (\alpha(x)^2 \beta(x)^1)^3}{1 - \alpha(x)^2 \beta(x)^1} + \binom{3}{3} \frac{1 - (\alpha(x)^3 \beta(x)^0)^3}{1 - \alpha(x)^3 \beta(x)^0} \\
 = & \frac{1 - \beta(x)^9}{1 - \beta(x)^3} + 3 \frac{1 - (\alpha(x)^3 \beta(x)^6)}{1 - \alpha(x)^1 \beta(x)^2} + 3 \frac{1 - (\alpha(x)^6 \beta(x)^3)}{1 - \alpha(x)^2 \beta(x)^1} \\
 & + \frac{1 - \alpha(x)^9}{1 - \alpha(x)^3} + 3 \frac{1 - (\alpha(x)^6 \beta(x)^3)}{1 - \alpha(x)^2 \beta(x)^1} + \frac{1 - \alpha(x)^9}{1 - \alpha(x)^3} \\
 = & 1 + \beta(x)^3 + (\beta(x)^3)^2 + 3 \left(1 + \alpha(x)\beta(x)^2 + (\alpha(x)\beta(x)^2)^2 \right) \\
 & + 3 \left(1 + \alpha(x)^2\beta(x) + (\alpha(x)^2\beta(x))^2 \right) + 1 + \alpha(x)^3 + (\alpha(x)^3)^2
 \end{aligned}$$

By Direct Method we get

$$\begin{aligned}
 L_3(3) &= \sum_{K=1}^3 L^3(K) \\
 &= L^3(1) + L^3(2) + L^3(3) \\
 &= 2^3 + (\alpha(x) + \beta(x))^3 + (\alpha^2(x) + \beta^2(x))^3
 \end{aligned}$$

Let $M_n^3(x) = M_n(x)$

Now the sum of squares of first three terms of $M_n(x)$ is $M_1^2(x) + M_2^2(x) + M_3^2(x)$

Since sum of d power of $M_n(x)$ is

$$\begin{aligned}
 M_d(n) &= \frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D+x)^{d-i} (3D-x)^i \sum_{K=0}^n (\alpha(x)^i \beta(x)^{d-i})^{K-1} \right] \\
 &= \frac{1}{(2D)^d} \sum_{i=0}^d \binom{d}{i} \left[(3D+x)^{d-i} (3D-x)^i \left[\frac{1 - (\alpha(x)^i \beta(x)^{d-i})^n}{1 - \alpha(x)^i \beta(x)^{d-i}} \right] \right]
 \end{aligned}$$

We have

$$\begin{aligned}
 M_2(3) &= \frac{1}{(2D)^2} \sum_{i=0}^2 \binom{2}{i} \left[(3D+x)^{2-i} (3D-x)^i \left[\frac{1 - (\alpha(x)^i \beta(x)^{2-i})^3}{1 - \alpha(x)^i \beta(x)^{2-i}} \right] \right] \\
 &= \frac{1}{(2D)^2} \left[(3D+x) \frac{1 - \beta(x)^6}{1 - \beta(x)^2} + 2(3D+x)(3D-x) \right. \\
 & \quad \left. \left[\frac{1 - (\alpha(x)\beta(x))^3}{1 - \alpha(x)\beta(x)} \right] + (3D-x) \frac{1 - \alpha(x)^6}{1 - \alpha(x)^2} \right]
 \end{aligned}$$

5. CONCLUSION

In this paper we have derived formula for sum of d-powers of generalized Fibonacci Like Polynomials when $a = p = 3$ and $b = 1$ via their explicit Binet Form. This procedure is extended to find the sum of d-powers of generalized Fibonacci Polynomials when $p = 4, 5$, etc.

6. REFERENCES

1. Helmut Prodinger sums of powers of Fibonacci Polynomials, Proc. Indian Acad. Sci. (Math. Sci), Vol.119, No.5, November 2009, pp.567-570 (c) Printed in India.
2. Henry Ware, Divisibility Properties of Fibonacci Polynomials over GF(2) Research Project, West Virginia University.
3. Johann Cigler q-Fibonacci Polynomials, Institute fur Mathematik, Universitat Wien, A-1090 Wien, A-1090 Wien, Strudlhofgasse 4, Austria.
4. Sandipan Dey, Suneeta Sane, Sugata Sanyal, A Note on the Bounds for the Generalised Fibonacci p-sequence and its application in Data – Hiding, International Journal of Computer Science and Applications © Techno mathematics Research Foundation, Vol.7, No.4, pp.1-15, 2010.
5. V.K.Gupta, Yashwant, K. Panwar and Omprakash Sikhwal, Generalized Fibonacci Like Polynomials and its Detrimental Identities, Int. J. Contemp. Math. Sciences, Vol.7, 2012, No.29, 1415-1420.
6. Gregory A.Moore, A Fibonacci Polynomial Sequence defined by multidimensional continued fractions, and higher order golden ratios, University of California, San Diego, San Diego, CA92093-01112.
7. Sergio Falcon, *Angel Plaza, On K-Fibonacci Sequences and Polynomials and Their derivatives, at www.sciencedirect.com chaos, solitons and fractals, 39(2009) 1005-1019.
8. Thomas Stoll, Complete decomposition of Dickson – type recursive polynomials and a related Diophantine equation, Formal power series and algebraic combinatorics series formaliste combinatoire algebrique Tianjin, China 2007.
9. Tewodros Amdeberhan, A Note on Fibonacci – Type Polynomials, 129.81.170.14/~tamdeberhan/fibon.pdf.
10. Ivan Niven and others, An Introduction to the Theory of Numbers – Wiley India.

* * * *

¹Associate Professor, P.G. & Research Department of Mathematics,
Seethalakshmi Ramaswami College, Trichy, Tamilnadu, India.
Email : kaladevi1956@gmail.com

²Assistant Professor, Department of Mathematics,
Thanthai Hans Roever College, Perambalur-621212.
Email : dhevakirajarajan@gmail.com